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Hioll Moz, ..cnsssuisasssans Y-2210(V)

Special Examination 2020
Supersupplementary (Old Course)
B.Com.Part-I
(Accounting Group)
Paper-I
Financial Accounting

Time : 3 Hours | [M.M.:75

WMe ;. ot Ui S SN TR TTE 9 U O
T e AT § | |l W % of wAE ¥

Note : Attempt all the five questions. One question from

each unit is compulsory. All questions carry equal
marks.

g&1e — I/ Unit-1

1. & OE 3 fFeafafaa oF-37 6 | S ge &
ez | gEfaEl, il @ et | g feamu—

3
(i) g | AR 9 fwa 75 000
(i) TS 1A G 20,000
(iii) Sfas 9 9@ @l 30,000

(P.T.0.)
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(iv) HHATER Gl
(v) e A 9= (|Td 22,500 )

(vi)

afene i "I 9491 (@rTE 2 10,000 )

(vii) Sferg =1 7 am9d e

(viii)

(ix)

A U AT 9199 341
e e

7,000
3,000
14000
2,000
2,800
1,700

Shri Desai had the following transactions. Use
accounting equation to show their effect on his
assets, liabilities and capital :

)
(ii)
(iii)
(iv)
v)
(vi)

(vii)
(vii)

(ix)
X—1945

Commenced business with cash
Purchased goods for cash

Purchased goods from David
Furniture purchased

Goods sold for cash ( Cost ¥ 2,500)
Goods sold to Ahmad (Cost T 10,000)
Returned goods to David

Goods returned by Ahmad

Salaries paid

75,000
20,000
30,000
7,000
3,000
14,000
2,000
2,800
1,700



[31]
319ar /Or

I T HifTu—

(i) JRIT T T,
(i) ISt (SH) TE wosh (@A),
(i) YSit =49 W& 1TH 54 |
Distinguish between :

(i) Book-keeping and Accounting,
(ii) Journal and Ledger,

(iii) Capital Expenditure and Revenue
Expenditure.

1S — IL / Unit - IT

2. 31 @€, 2018 % §AM TN 9 99 % forw fie
fFaell & R W swrEre 9ei € %1 SR @,
ar-gif @ wE 3% fafy 6 faeer SR #fu—

AT —

(31) erf<m @9 213,750 |

(9) 6% =ftiss HF S/ HO W AT
(|) st W 5% 1 XY A TR

(]) 9 : Y97 W 2-5%, I T 5% T4 Fer
10% |
X—1945 (P.T.0)
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3T 9TET 99

3TN FH0
o
¥ fau=

o fagx

X—1945

[ 4]

80,500
8,500
45,750
6,400
3,350
46,000
20,000
2,550
2,400
350
2,700
1,000
50,000
4,590
19,500
32,000
3,500
450
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Purchases 45,750
Salaries 6,400
Wages 3,350
Premises 46,000
Plant 20,000
Furniture 2,550
Freight 2,400
Carriage Inwards 350
Custom Duty 2,700
Bad Debts 1,000
Capital 50,000
Bills Payable 4,500
Creditors 19,500
Debtors 32,000
Bills Receivable 3,500
Insurance 450
Discount (Dr.) 250
General Expenses 350
Taxes 1,450

X—1945
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ATER (=5122) (fo=h.) 250
T 4 350
ET) 1,450
fasha arowt 2,300
TG 700
ERICIEE] 500
o 25,000

From the following particulars prepare Trading
Account, Profit & Loss Account and Balance Sheet
of Agrawal Machinery Stores on 31st March,
2018 :

Adjustment :

(a) Closing stock ¥ 13,750.

(b) Interest on loan is to be charged @ 6% p.a.,
(c) Interest on capital is to be charged @ 5% p.a.,

(d) Depreciation on premises by 2-5%; plant by
5% and Furniture by 10%.

4
Sales 80,500
Opening stock 8,500

X—1945 (P.T.0)
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Sales Returns 2.300

Repairs 700

Purchases Returns 500

Loan 25,000
3 /Or

I9 @ 71 & 3 98 Fe 999 a1 ® ? 3EEW
gfga u=RTl

What is ‘Suspense Account’ and when is it
prepared ? Explain with examples.

gahts — III / Unit — ITI

3. Trefafed gEmell & uR W (F) WiE- e arq
e (@) -9 @Al 31 |, 2018 ) gE 99 %
e sFRY—

T : T 99 & 9 IgW g 2,400 T; = T F W
aga T 21,600 T; =e] a8 & << W el €Y 3,600
Tl

wiftaat ; A w1 TR 1,200 3; Higt g 7,200 3,
AT T | i Ul 14,800 2 |

WA : a9 10,400 T; ALA 2,000 I; BIE T
WRYEd 2,400 T; YA T &1 WUl 12,600 T
dieier #t 7eigd 8,000 ¥; fasielt =74 3,600 T; &u=n
3 F6,400 T

X—1945 (P.T.0)
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AT I : (i) 7T 800 2 (ii) STAYH T8 WrEUT
2,400 z; 1 279, 2017 I TeR€ 919 1,600 T o1

On the basis of the following information
prepare : (a) Receipts and Payment Account and
(b) Income & Expenditure Account for the year
ended 31st March, 2018 :

Subscriptions : Subscription realised last year
T 2,400; Received current year subscription
¥ 21,600; Subscription for the current year not
received ¥ 3,600.

Receipts : Room Rent ¥ 1,200; Sports Fee
¥ 7,200; Receipts from Refreshment Rcom
T 14,800.

Payments : Salary ¥ 10,400; Repairs ¥ 2,000;
Printing and Stationery ¥ 2,400; Refreshment
Room Material ¥ 12,000; Wages to Chowkidar
¥ 8,000; Electric Expenses ¥ 3,600; Rent and Taxes
¥ 6,400.

Outstanding Expenses : (i) Repairs ¥ 800;
(i1) Refreshment Room Material ¥ 2,400. Cash
Balance on 1st April, 2017, % 1,600.

3t /Or

B Y 219 71 99 § ? B9 T 1 FE Ui fafg)
Y THAY |
X—1945
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What do you mean by Depreciation ? Explain any
five methods of charging depreciation.

g1 — IV / Unit -1V

Wwﬁm,wmwmm@

SrEiE i Ufad A & aun arEeil gr fasha e wE
IYR foFar < § 1 gwad IrE ¥ gefa FEfate
gomell ¥ YR W T FEad h TEH § A

WA Td @ AR Wl TaR it —
z z

w4 (1 318e, 2017) | 15,000 | 3e0eA F9 600
R (1 379, 2017) | 26,200 | Tewhi & W Ahg | 49,200
& HEad 9 9 e &Eiad gl
B2 50,800 | e T Y :
wTE g & wEied I, o 31 1,800
I e T A 700 | TSI TS ST 6,000
g fawd 33,500 | 9= =4 1,300
IYR fawa 60,000 | &4 (3194, 2018) | 13,900
TT&<hi i IZ2T 320
ekl gRI AT STl 580
X—1945 {P.T.0)
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M/s Anurag Limited, Raipur despatches goods to
its branches on cost price basis and the sales by
branches are done cash and credit. From the
following information of Dhamtari Branch given
below prepare Branch Account and Branch Debtors
Account in the books of Head Office -

Stock

(1st April , 2017)
Debtors

(1st April, 2017)
Goods received from

Head Office

Goods returned by
branch to
Office

Cash sales

Credit Sales
Discount allowed to
customers

Goods returned by
customers

15,000 | Bad Debts

Head |

26,200 | customers

J Expenses paid by
| Head Office :

50,800

Rent, Taxes etc.
Wages and salary

700 General Expenses

33,500 | Stock
60,000

320
580

Cash received from

(31st March, 2018)

600

49,200

1,800
6,000
1,300

13,900

X—1945
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34t /Or

e T THUE S TSl % YR 9T 9= WM @ a4
Far @ TEE w1 WA Al oo (Se) giafeE
ISy

Mention the journal entries in the books of the
purchaser when goods are sold on the Hire
Purchase System.

Z&E ~ V /Unit-V

5. ‘A’ 3R ‘B’ U SMM9R § GRIGR § S A@9-¥1H 2 - 1
¥ o9 © afed €11 1@, 2017 ‘A’ 991 ‘B’ F
dst e 5,00,000 T A€ 4,00,000 T ot | WRASK
TorE@ ¥ SUN FEER & get W 5% SN S
(Ffee) &N 91 a1 B ! 9 WG & HRO
7,500 % 9fd A€ Sd7 M ST o1

31 WM, 2018 1 &% w1 TR It T A oA F
R ‘B’ &1 da4 oFH & AR (SifF B A & Frawren
¥) 1,57,500 2 @11 od § 3= fsit =g & foe swaw:
50,000 T TH 40,000 e fomd €1

Toft feor B Y qw H SRR % St wd = @
ERIELE

‘A’ and ‘B’ are partners in a business, sharing
profits and losses in the ratio of 2 : 1. On st April,
2017 their capitals were ‘A’ ¥ 5,00,000 and ‘B’ X

4 00,000. The partership deed provided that interest
X—1945 (P.T.0)
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at 5% was to be credited to partners capitals and
‘B’ being an active partner was to be paid a
monthly salary of ¥ 7,500.

On 31st March, 2018 profits before charging
interest on capital but after charging B’s salary
(which had not been withdrawn) amounted to 2
1,57,500. During the year they have withdrawn %
50,000 and ¥ 40,000 respectively for personal
expenses.

Show the partner’s capital accounts and current
accounts when capital are fixed.

3@t /Or

e & % faved @ a1 o ® 2 fover m o
A STl ST Ui (S whafest dfg )

What is meant by dissolution of partnership firm ?
Give necessary journal entries on dissolution.

Th Ak Kk Fhhwn

X—1945 12 — 300
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Special Examination 2020
Supersupplementary (Old Course)
B.Com.Part-1
(Accounting Group)
Paper-11
Business Mathematics

Time : 3 Hours ] [M.M.:75

M ;. T uTE T % S ANT ) T TEE § W U
T e A ® 1 et weEl & ofw wEE
Note : Attempt all the five questions. One question from

each unit is compulsory. All questions carry equal
marks.

gahTs — I/ Unit— I

1. x & °ev # =1 Wer &1 Srasherst Sid il —

_2x2-1
Y=2x+3

Find the derivative of the following function with
respective to x :

_2x2-1
Y=2x+3

(P.T.0)
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g4t /Or

T @M # Higedl 6 oot gfAe] %1 394 o1y 15
a9 ot | 16 STk AfH] Fi TTd 3g 8 o qur 9y
afgen gfisl #1 oitwa oy 22 =8 of | gfe mfgen
gl § 10 Afeed faarfea € @ sifaarfza wfeen
gl 61 &I Wd FIGC T Al F1 g&
AT |

Average age of women and children workers
employed in a factory was 15 years. The average of
16 children was 8 years and the average are of
remaining women workers was 22 years. If there
are 10 married women amongst women work~r;,
find the number of the unmarried women workers.
Also find out the number of total workers.

gahts — I / Unit - 11

2. TFmfafes grfors 1 7 94 Sife—

131
254
615

Find the value of the determinant :

1'31

254

615
X—1946



[31]

37914t /Or

Zrﬁzlz[(l) ?]amE:[g (],}a‘fawisqﬁﬁ_

(al + bE)3 = @3] + 3a2bE.

1= [é ﬂ and E = [8 (1)] , then show that :

(al + bE)3 = @31 + 3a2bE.
Zahts — I / Unit — ITI

3. @ g 0 ¥ 2 Wl v 9 fadand v Hee
W Yh1¥1 SIfer |

What is linear programming ? Throw light on
characteristics and importance of linear
programming.

394t /Or

T I H2 100,250 WZ 10 F 2§12 100w 2
50 % 1] 1 WA 1 UM 2 ; 5991 2 50 TS 2 10
% M H HEM F AIE 4: 9} 1 AR FA W 2
11,250 81l W TR % =13 o1 E&A1 919 FH9a |

A bag contains ¥100, ¥ 50 and € 10 currency note.
The ¥ 100 and % 50 currency note are in 2 : 5 ratio
X—1946 (P.T.0)
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and the Z 50 and ¥ 10 currency note are in the ratio
4 : 9. If the total amount is ¥ 11.250, find the
number of currency note of each type.

gehTS — IV / Unit - IV

4. H ¥4 THfe AW W 4 9 H M1 0@ ¢ | foha
o B 9% 4 T 7 SEm 2 ST F6 Hife |

A sum of money doubles itself in 4 years at
compound interest. In how many years will it four
times itself. Find the rate also.

3t /Or

1 oiffent i 2 gefta < et 1 GaHE qod a9
Tagym 3@ FfSY, S&fw = #5150 4% 2

Find the present value and amount of an annuity
due to ¥ 1 per annum payable annually for 2 years
when the rate of interest is 4% p.a.

gehTS — V /Unit -V

5. TF TR &H! THhe fash! W 5% 3R 4R famt W4%
HteE @ s 1 3fE 2 50,000 #1 Ft foswt WA
7 2 400 & v € @ e a IR fawt =t uf¥ 96
Hif |
X—1946
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An agent is paid commission of 5% on cash sales
and 4% on credit sales. If on a total sales of ¥
50,000 he is paid ¥ 2,400. Find the amount of cash
and credit sales.

3rgar /Or

T =R 2 616 i AEfee &I 5 9 1 9Efad a9
¥ 139 91 W 39 veeh wRfed W 12% A a9 gad
RS W 12% 1 T Bt © | Fad e 38 &Y
21 § 1 w1, femem iR foram witwra 2

A dealer sales two cycles at a price of ¥ 616 each.
In this transaction he earns a profit of 12% on one
cycle and suffers a loss of 12% on the other. What
is the profit or loss on the whole and what per
cent ?

XA A hxx Fhhkhx

X—1946 5 — 300






